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The test is closed book, with one sheet of notes and standard calculators (no communications) allowed.
Show all work. Be sure to state all assumptions made and check them when possible. The number of
points per problem are indicated in parentheses. Total of 50 points in 3 problems on 3 pages.

1. 1f v,(£) = 2 cos(1000t — 60°), find v,(£). (15) \/ - 2 [_éo \/
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2. If Vg = 120£0° V(rms), what is the complex powe dehvered to RL series load?
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3. For the circuit to the right, Cys = 100pF, ©“a |§L

S
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Cy¢ = 20PF, g =0.18, and g4, = 10 mS. = s £
If the input voltage is v;(t) = 20 cos(10°t) :
mV, what load admittance Y, = G, +jB;, Cqs ‘
VL' { l : Va

placed in parallel to g4, (across v,) would
maximize power transfer to the load? (20)
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End Of Exam




i <.

3. For the circuit to the right, C;s = 100 pF, S#¢ ff

Cya = 20pF, g,, = 0.18, and g4 = 10mS. * 11

If the input voltage is v;(t) = 20 cos(10%) ¥

mV, what load admittance Y, = G+ 7B i Cgs

placed in parallel to gu (across v,) would ¥ \(35
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